Ria# < Er 1488 k815 (109 824EFAZEL (11340))
REH S HEEEE Y (100 E24FEE AL (11348))
SE R HH By &3
RELES PME SRR 28 140
ZILEME 79
2= WWhigE 10
[ENENETE
(EnE) =D HfigE s 23
21 #243y]
WMEEFERETE)
K—I RK—T K-k RZTF K= K=ET APk AIUT
bii) o | TESBREESC ) 4k 4 A (REFBR)
f B "ONEREE ) 3 4 ﬁﬁ(ﬁﬂ“@%ﬁz BERER)
%D UG | A~ F ARG P E P RE I RPFES P K Fp PR AR ) A AR
Sl i fi‘“ffb FI 4 30 fé Y48 > 25484 > 3 5 188 & (BERIE a&)
RilE A z“ P aspinsmsd T2 858~ B awdn \é’é;%%éi@J Fraaxv2s9n, &
SRR (S e ) T rade o 320 1 8L 3 5 158 L (RERIER)
DMEFR B =5 533 T ki £ j==¥s
P 108 EFEREAZ N —WAEBE TEWERE, (1 29)
S ILFEOME (FES— 3 a3 | TR — | TAEE . — (3l (B33 ineE (BB ER
3 3 R EE 3 B 1 F3
UIEY R ES M E YRR I LR R LR R 2 | E (RT3
—3 -3 3 3 B 1
LY Y Y LR — (R LB T B BT R BB S E T
Hi— 1 |HEB 3 3 3 23
HLm bEE— | EbEE VIR T Y L
3 3 Bw—1 B 1
iR iE LT BITHERE— BT (E | B (E = | B iEE (LIRS
Bp— 1 B 1 3 2 4 B 2 B BT Bk 2 BB T
BrEi2 | 1’!55%22
(LTS O BR3[BT ﬁfrfmh T B
B— 1 -
BE—0 BE_-0 |[K_#E50 j::%%%‘ 0
AR5 — (R sea s — (ikseEE =
0 0 0
WWhigE B R BT NET T ¥4 Eil
3 B3 A3
WAIEDT 35— 1 1 =1 SRk
(F5EE) SCRREEEE | 1
el
fEE i 108.06.24 £ T % 107 BREE S B — N A TSk - B 108 E24EE ASEHES > Ty
— g~ TE T~ TERx =~ TBEESLE L ) GRESTE T > b TEHERRRR) o Rl

FHEE -



https://www.che.ncku.edu.tw/Documents/Courses/rule/B-20(108).pdf
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